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»''aR" maintains from the time of '™\’

OVERVIEW
The X3 cites the np?nn between °"ax7 and °" whether the 72X%1 70X begins
NI YW or 7Ana v nywn. Our mooin explains the reasons behind their views.

*

— 010 NYNNA NPNYINAY NY PP 12 MWHHN 529 VP YNNI IN )IPONT INNIY
According to the conclusion' of the X713 that MX means actual light, then >''ax=
assigned the extent of this ruling of 5"va 1oX%7 70X to start at the beginning of

the day. When >"ax" says 17 nywn he is referring to mwn m>y, when the day begins and we
refer to it as M. The reason for this ruling is self evident (as the X713 comments); the day begins
with nwn moy.

SUNYN NNIT NN RINY NINDNY DTN NI NYWN NHRND NIN VP NN 22

And >''% maintains that the prohibition begins at sunrise, for that is the time from
when the workers begin their work, which is after sunrise” .

mooIn will now prove that workers begin to work after sunrise:
120 52 HYN INNIY 1TYN IND2)32 DN (0w 3,9 91 BTN NN 19IWNA HNINT

As the X723 states in 2951977 NR 2W7 P93 ‘a worker gives from his own time
when he enters the city to return home,’ and he takes from the employer’s time

when he exits the city to go to his place of employment.
— MANYNIY 1171539 INNIYA ure

The explanation of the term InX°%%2 means when he leaves his home to go to

work, it is on the expense of the employer’ -
— 19995 DN NN 999 PADNY WHRYN NITH C1p oovnn) 29197

" The term ‘conclusion’ is seemingly misleading; there is (seemingly) no conclusion that T is v, rather it is
(merely) a "1°7. See [however] *"1o.

21t s fitting (according to °"9) that the prohibition to work (on 5"¥) should coincide with the time laborers
customarily begin their day’s work (but not before).

’ He must work until nightfall, and then goes home. He is returning home on his own time; not getting paid for it.
His going home (as opposed to going to work) is not beneficial for his employer.

* The term w7 is (generally) used to indicate that the simple explanation is not the correct one. One may have
thought that 1n9°131 means when one goes to work and 1NX°%¥°2 means when one leaves work. N1901n makes us aware
that the opposite is true.

> The work should begin at sunrise. However, the worker may leave his house at sunrise; coming to work somewhat
later. This is at the expense of his employer who pays him a full daily wage (despite the fact that he comes slightly
late to work). See “Thinking it over # 1.
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As it is written ‘when the sun shines they (referring to the nocturnal creatures)
gather in to their resting places, etc.; the next P10 continues ‘man goes out to his
job’. We see from this 105 that a person goes to work after sunrise (not by “nwa my).

mMooIN mentions an apparent difficulty:
— 795 17525 XYY XY H°29 XY PP 12 AMWHN 529 90 X9

And *'"'ax" does not follow neither 2''2 nor 13''2 -
— XN 1Y 179991 Y9N 1H%2) 199D PIOIN NIV NYaY

For w'a prohibit the entire (previous) night from working, and 7''2 permit
working until sunrise. Neither prohibits working from nws noy.

mooIn anticipates an additional difficulty:
— NIV NH35 NNIIN NINT PNYT NPYOT INIDY

And according to what initially entered our minds that 938 means evening, it

would seem that >"2x" follows the view of @''3 that the 110°X begins the previous night.
This poses a difficulty. How can we say that >"2x1 follows the view of "2 instead of 72718

mooIn responds:
$NTN 9393 HUN NH%2) INNPY 13 1PINI XY APY? 13 MTYIHN 239 9N

>''ax1 will maintain that w''2 and 7''2 never argued concerning this issue, when
one is MOX to do 719871 on "y. He will maintain that the Xin of that 7awn is mistaken when it
mentions the nP172nn of 7"21 w"a. According to °"aX" both w"2 and 7"2 agree that 7oK 0K
begins at the previous nightg.

SUMMARY

°"2X7 maintains that the prohibition begins at the beginning of the day which is
anwn My, while °"9 maintains that the prohibition from work begins when people
usually begin to work; 7m7 71.

THINKING IT OVER
1. In this moon it appears that workers begin at sunrise (or somewhat later)."

635,25 opoo.

7 See previous *maXn 1"7 MOON.

8 Especially since there is also the dictum (2,07 N1»2°) that the teachings of >"aX1 are *p11 2p (few but clean [correct]).
The 775917 is 77"25 and also >"2x"3. This is contradictory!

? See (however) ‘Thinking it over’ # 2.

10 See footnote # 5.
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However in a previous ''moon we learnt that the work began arwi m5y». How can
we reconcile these two mooin?'?

2. mooIn states (at the very end) that >"2X7 will maintain that 7"2) ¥"2 never argued
about the 79X%7 T0°R on 9"Y. Is this referring only to the 7"0p that 73X means XnTIR
(and >"2X7 1s w"22), or does NMOVIN mean to say this also according to the X701 that
7% means 01 (and >"2K is 7" 89 w20 &9)?2"

R 2" 8,2,
12 See 9y 11"7 2,30 "2 MOOIN
13 See (PR 1M NXXIT2 81 77w W'KAT MDON.
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